MTH-4106-1 REVIEW: FACTORING AND ALGEBRAIC FRACTIONS

Question 1

Factor the following polynomials:
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Question 2

Factor the following polynomials completely.
Show all the steps in the solutions.

a) 18m’n’—78m'n’ + 24m’n’
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Question 3

Reduce the following algebrzuc fractions to their lowest terms.
Show all the steps in the solutions.
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Question 5

In each of the following problems the two algebraic expressions are equivalent. In each
problem, demonstrate the equivalence by transforming the expression on the left side.

Show all the steps in the solutions.
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Question 6

In each of the following problems the two algebraic expressions are again equivalent.
This time, demonstrate that equivalence by transforming both algebraic expressions
(i.e. on the left and right sides). Show all the steps in the solutions.
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— MTH-4106-1 REVIEW: FACTORING AND ALGEBRAIC FRACTIONS

Question 1

Factor the following polynomials:
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(Question 2

Factor the following polynomials completely.
Show all the steps in the solutions.

a)  18m’n*—78m'n’ + 24m’n®
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Question 3

Reduce the following algebraic fractions to their lowest terms.
Show all the steps in the solutions.
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— QQuestion 5

In each of the following problems the two algebraic expressions are equivalent. In each
problem, demonstrate the equivalence by transforming the expression on the left side.
Show all the steps in the solutions.
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py Question 6

In each of the following problems the two algebraic expressions are again equivalent.
This time, demonstrate that equivalence by transforming both algebraic expressions
(1.e. on the left and right sides). Show all the steps in the solutions.
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